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28 HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.004 - 0.100 0.009 =
LA i 1.512 0.027 - 0.539 0.090 &
/L% (HCI) 4.545 0.035 - 0.203 0.119 2
SAEE (HF) 0.306 0.002 - 0.079 0.031 =
—ZMEWT (SO2) 15.147 0.162 - 8.502 2.829 H
—%& Ll (CO) 7.578 0.010 - 0.264 0.092 =
FE(EY (NOx)
DI=%AEE, (NOy) 30.303 1.160 - 8.043 2.704 2
R
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.007 - 0.017 0.009 =
SN 0.756 0.055 - 0.163 0.090 =
/L& (HCI) 0.756 0.087 - 0.147 0.118 2
SAEE (HF) 0.072 0.024 - 0.039 0.031 =
—&/EHi (SO2) 3.789 2.137 - 3.335 2.825 =
—&{Ef% (CO) 3.789 0.059 - 0.146 0.092 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.503 - 3.750 2.697 2
SR
28 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
T Ry g ) 7.575 x 10 <5.355 x 10 =
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28 HERREO [0ic SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.004 - 0.414 0.010 =
AT 1.512 0.011-0.774 0.078 =
/L% (HCI) 4.545 0.040 - 0.195 0.146 2
SFAEE (HF) 0.306 0.004 - 0.042 0.022 =
—4&/EF (SO2) 15.147 0.095 - 7.952 2.396 2
—& (L% (CO) 7.578 0.001 - 0.074 0.029 =
FE(EY (NOx)
DI=%AEE, (NOy) 30.303 0.533 - 11.530 1.368 2
R
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.006 - 0.029 0.010 =
SN 0.756 0.029 - 0.138 0.078 =
/L% (HCI) 0.756 0.128 - 0.165 0.146 2
LS (HF) 0.072 0.017 - 0.029 0.022 =
—&/EHi (SO2) 3.789 2.101-2.779 2.398 =
—&{Ef% (CO) 3.789 0.009 - 0.048 0.029 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 0.927 - 2.555 1.376 2
SR
28 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
T Ry g ) 7.575 x 10 <5.601 x 10 =
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S HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
AR 2.277 0.002 - 0.017 0.004 =
LA M 1512 0.000 - 1.075 0.085 =
/L% (HCI) 4545 0.039-0.173 0.076 2
SAEE (HF) 0.306 0.009 - 0.068 0.025 =
— /BT (SO2) 15.147 0.378 - 6.677 2.703 =2
—%& Ll (CO) 7.578 0.001 - 0.156 0.066 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.998 - 5.997 2.122 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.002 - 0.010 0.004 =
SN 0.756 0.031-0.176 0.086 =
/L& (HCI) 0.756 0.057 - 0.106 0.076 2
SAEE (HF) 0.072 0.019 - 0.035 0.025 =
—&/EHi (SO2) 3.789 2.278 - 2.986 2.703 =
—&{Ef% (CO) 3.789 0.027 - 0.120 0.066 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 1.506 - 3.155 2.121 2
SR
28 HERREO RS S R
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
T Ry g ) 7.575 x 10 <6.153 x 10 =
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S HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.003 - 0.061 0.009 =
LA M 1.512 0.060 - 1.320 0.156 =
/L% (HCI) 4545 0.038 - 0.145 0.105 2
SAEE (HF) 0.306 0.006 - 0.066 0.043 =
—ZMEWT (SO2) 15.147 0.014 - 5.496 2.757 H
—%& Ll (CO) 7.578 0.022 - 0.151 0.070 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 1.032 - 8.382 2.721 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.004 - 0.019 0.010 =
SN 0.756 0.096 - 0.257 0.157 =
/L% (HCI) 0.756 0.073-0.132 0.104 2
SAEE (HF) 0.072 0.040 - 0.045 0.043 =
—&/EHi (SO2) 3.789 2.564 - 3.055 2.759 =
—&{Ef% (CO) 3.789 0.050 - 0.100 0.071 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 1.773 - 5.050 2.746 2
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0060 &
T Ry g ) 7.575 x 10 <6.892 x 10 =
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